Math without Calculator: Question 1

n Tony gpends $80 per month on public transportation. A 10-ride pass costs $12.50, and a single-ride
pass costs $1.50. If g represents the number of 10-ride passes Tony buys in a month and ¢
represents the number of single-ride passes Tony buys in a month, which of the following equations
best represents the relationship between gand t?

View Answerv
A g+t=80
B. g+t=150+1250
C. 1.50g+12.50t=80

D. 12.50g +1.50t=80

ET=1,DDO+1Bh

In the equation above, T represents Brittany's total take-hame pay, in dollars, for her first week of
work, where h represents the number of hours she worked that week and 1,000 represents a
sign-on bonus. If Brittany’s total take-home pay was $1,576, for how many hours was Brittany
paid for her first week of work?

View Answerv
A 16
B. 32
C. 55
D. 88

Question Difficulty: Medium

A clothing store is having a sale on shirts and pants. During the sale, the cost of each shirt is $15
and the cost of each pair of pants is $25. Geoff can spend at most $120 at the store. If Geoff buys &
shirts and p pairs of pants, which of the following must be true?

View Answerv
A 158+25p <120
B 155+25p =120
C. 25s+15p £120

D. 25s+15p =120

Question Difficulty: Medium



n What is the solution to —3(x—5)= —2x+4 7

View Answerv

A 11

Question Difficulty: Medium

Hf(x)=x3+3x2—ﬁx—1

For the function fdefined above, what is the value of Fl=1)2

View Answerw
A -1
B. =7
c 7

D11
Question Difficulty: Medium

u Triangle ABC and triangle DEF are similar triangles, where AB and DE are corresponding sides. If
DE =2AB and the perimeter of triangle ABC is 20, what is the perimeter of triangle DEF ?

View Answerv
A 10
B. 40
C. 80
D. 120

Question Difficulty: Medium



There were no jackrabbits in Australia before 1788 when 24 jackrabbits were introduced. By 1920
the population of jackrabbits had reached 10 billion. If the population had grown exponentially,
this would correspond to a 16.2% increase, on average, in the population each year. Which of the
following functions best models the population P(f) of jackrabbits t years after 17887

View Answerw

A plf)=1.162(24)!
B. p(t) =24(2)""%
C. p(f)=24(1.162)
D p(f)=(24,- 1.162)

Question Difficulty: Medium

n Which of the following is equivalent to the sum of 344257 and 4+ 737
View Answerv
A 16x 14
B. 7x%+9x8
C 12x*+14x°
D. 7x*+09x°
Question Difficulty: Medium
n The function fis defined by £(x) =xZ, and the function g is defined by g(x) =x*+3. Which of the
following translations of the graph of fin the xy-plane results in the graph of g 7

View Answerv
A Atranslation 3 units downward
B. Atranslation 3 units upward
C. Atranslation 3 units to the left
D. A translation 3 units to the right

Question Difficulty: Medium



A E
Note: Figure not drawn to scale,

In the figure above, segments AE and BD are parallel. If angle BDC measures 58° and angle
ACE measures 62°, what is the measure of angle CAE?

View Answerv
A b8®
B. 60°
C. 62°

D. 120°

3
n An oceanographer uses the equation $= 5.0 to model the speed s, in knots, of an ocean wave,

where p represents the period of the wave, in seconds. Which of the following represents the
period of the wave in terms of the speed of the wave?

View Answerv

A2
P=3
B =3
2
“p=Zis
3
P p=Zts



Which of the following could be an equation for the graph shown in the xy-plane above?

View Answerv

A y=—%x+8
. y=—%x+4
© y=—%x+4
o y=—%x+8

m -

ry

Note: Figure not drawn 1o scale.

Triangle FGH is inscribed in the circle above. If arc FG is congruent to arc GH |, and the measure

of £G is 30° | what is the measure of ZH 7

View Answerv
A 30°
B 60°
c. 75°

D 120°



m Which of the following is equivalent to ¥ x° +8x +16  where X > 07

View Answerw

A (x+4)*
B (x+4)?

C (x+4)
D. 1
be+4)2

Question Difficulty: Medium

m ax+by=b

In the equation above, a and b are constants and 0 < @ < b, Which of the following could
represent the graph of the equation in the xy~plane?

View Answerwv

A ¥
. \\.
m
B. ¥
ll
C. ¥
-
___l Ty +
{ N
D. !
11!
X
x+x=9

What value of x satisfies the equation given?

View Answer v

Question Difficulty: Easy



What is the solution to the equation above?

View Answer v

Question Difficulty: Hard
m 2x+3y=31
3x-y=30
If (x.y] is the solution to the system of equations above, what is the value of 100x +40y?

View Answer v

Question Difficulty: Hard

n lf t>0 and (302 -5(30—-14= 0, what is the value of £ ?

View Answer v

Question Difficulty: Hard

m hi)=x3+ e +bx+c

The function h is defined above, where &, b, and ¢ are integer constants. If the zeros of the function
are —9, 8, and 7, what is the value of ¢ 7

View Answer v

Question Difficulty: Hard



